DVCP-3 AND LATER LINER KITS
INSTALLATION INSTRUCTIONS

BLACK REFLECTIVE LINERS GAS-FIRED CERAMIC FIBER LINERS
MODELS DESCRIPTION U MODELS DESCRIPTION
DVP32LKR Traditional C\"® I- Us DVP(32,36,42)FAB Aged Brick
DVP36LKR Traditional LISTED DVP(32,36,42)FCB Cottage Brick
DVP42LKR Traditional DVP(32,36,42)FRB Rustic Brick

INSTRUCTIONS MUST BE LEFT WITH THE OWNER FOR FUTURE REFERENCE AFTER INSTALLATION

Installation of Reflective Liners

Carton Contents:
Rear Liner

Left Liner

Right Liner

2 - Brackets

2 -#10 x 1/2 Screws

Tools needed: Phillips screw driver

1. Prebend the brackets included with the kit as shown

in Figure 1.

3. Place left panel against left firebox and rear panel and
hold side in place.

4. Secure left panel in place with one of the brackets and
a screw from Step 1. See Figure 3.

Figure 1
2. Place rear panel on log support in the back of the Figure 3
firebox and hold with one hand. See Figure 2. 5. Repeat steps three and four for the right side.

Figure 2

37706-0-1116

Empire Comfort Systems Inc. * Belleville, IL Page 1



Installation of Ceramic Fiber Liners 3. Place left panel against left firebox and rear panel and
. hold side in place.
Carton Contents: 4. Secure left panel in place with one of the brackets from

step 1 and a screw. See Figure 6.

Rear Liner

Left Liner

Right Liner

2 - Brackets

2 -#10 x 1/2 Screws

Tools needed: Phillips screw driver
Installation of Ceramic Liners

1. Prebend the brackets included with the kit as shown
in Figure 4. _

\/

SIDE PANEL'S NOTCH
GOES TO FRONT

Figure 6

5. Repeat steps three and four for the right side.

Figure 4

2. Place rear panel on log support in the back of the
firebox and hold with one hand. See Figure 5.

Figure 5

Page 2 Empire Comfort Systems Inc. ¢ Belleville, IL 37706-0-1116



5\5@
1
\
N\ 7
2 \
42 INCH MODEL SHOWN
BRICK LINER PARTS LIST
327 36” 42”

INDEXNO. PART NUMBERS - DVP(32,36,42)FAB AGED BRICK LINER QTY

1 37649 37665 37681 REAR 1

2 37650 37666 37682 LEFT 1

3 37651 37667 37683 RIGHT 1

4 29270 29270 29270 LINER BRACKET 2

5 R2737 R2737 R2737 SCREWS-#10 x 1/2 2
INDEXNO. PART NUMBERS - DVP(32,36,42)FCB COTTAGE BRICK LINER QTY

1 37654 37670 37686 REAR 1

2 37655 37671 37687 LEFT 1

3 37656 37672 37688 RIGHT 1

4 29270 29270 29270 LINER BRACKET 2

5 R2737 R2737 R2737 SCREWS-#10 x 1/2 2
INDEXNO. PART NUMBERS - DVP(32,36,42)FRB RUSTIC BRICK LINER QTY

1 37660 37676 37692 REAR 1

2 37661 37677 37693 LEFT 1

3 37662 37678 37694 RIGHT 1

4 29270 29270 29270 LINER BRACKET 2

5 R2737 R2737 R2737 SCREWS-#10 x 1/2 2

37706-0-1116

Empire Comfort Systems Inc. * Belleville, IL

Page 3



5.5
e
nL \?—
' 3
o /
2 -
J
HL \0
i 42 INCH MODEL SHOWN
REFLECTIVE LINER PARTS LIST
INDEXNO. DVP32LKR DVP36LKR DVP42LKR PORCELAIN LINER
1 31605BL 31624BL 31708BL REAR
2 31607BL 31607BL 31710BL LEFT
3 31608BL 31608BL 31712BL RIGHT
4 29270 LINER BRACKET
5 R2737 SCREWS - #10 x 1/2

Page 4

U Empire Comfort Systems Inc.
Belleville, IL

|
If you have a general question
about our products, please e-mail
us at info@empirecomfort.com.
If you have a service or repair
SUCEORNNOINERD question, please contact your dealer.
SINCE 1932

www.empirecomfort.com

37706-0-1116



